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Q.1 Which sentence has the correct placement of the adverb "only"?

Ans X 1. She eats vegetables only on Sundays.

+#" 2. She eats only vegetables on Sundays.

/5 3. She only eats vegetables on Sundays.

/< 4. She eats vegetables on Sundays only.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680453681
6306801771710
6306801771709
6306801771708
6306801771711
Answered

3




Q.2

Ans

Comprehension:
Read the following passage and answer the questions below.

Classic literature stands the test of time because it delves into the timeless themes that
define the human experience and delves deep into the intricate tapestry of human emotions
and society. Works such as Jane Austen's "Pride and Prejudice” and Charles Dickens' "Great
Expectations" have a profound and enduring impact on readers for several reasons.

Firstly, these classic novels serve as windows into the past, offering us a glimpse of the
societal norms, values, and challenges that shaped their respective eras. "Pride and
Prejudice," set in the early 19th century, explores the constraints placed on women and the
importance of social status. On the other hand, "Great Expectations" provides a vivid
depiction of the harsh realities of Victorian society and the pursuit of wealth and status. By
reading these works, readers can gain a richer understanding of history and the evolution of
societal norms.

Moreover, classic literature delves into universal human emotions and experiences that
transcend time and place. The themes of love, ambition, jealousy, and redemption are as
relevant today as they were when these novels were written. Readers can empathize with
characters like Elizabeth Bennet and Pip because they grapple with dilemmas and emotions
that resonate with our own lives.

Additionally, classic literature challenges readers to think critically about the complexities of
human nature and society. Characters are often multifaceted, embodying both virtues and
flaws, making them relatable and thought-provoking. In "Pride and Prejudice,’ the characters'
growth and transformation highlight the importance of self-awareness and personal growth.
In "Great Expectations," we witness the consequences of ambition and the power of
forgiveness.

In conclusion, classic literature endures because it not only reflects the historical context in
which it was written but also because it speaks to our shared humanity. It encourages readers
to reflect on their own lives, values, and society, making it a valuable and enriching experience
that transcends generations. These timeless works continue to shape our understanding of
the human condition and remind us of the enduring power of literature.

SubQuestion No : 2

What is one reason why classic literature like "Pride and Prejudice" and "Great Expectations”
has a lasting impact on readers?

+«" 1. They provide a glimpse into past societal norms and values.
75 2. They are easy to read and understand.
25 3. They are filled with modern technology and futuristic concepts.

/X 4. They focus solely on fictional worlds.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453662
6306801771645
6306801771646
6306801771644
6306801771647
Answered

1




Q.3
Ans

Comprehension:
Read the following passage and answer the questions below.

Classic literature stands the test of time because it delves into the timeless themes that
define the human experience and delves deep into the intricate tapestry of human emotions
and society. Works such as Jane Austen's "Pride and Prejudice” and Charles Dickens' "Great
Expectations" have a profound and enduring impact on readers for several reasons.

Firstly, these classic novels serve as windows into the past, offering us a glimpse of the
societal norms, values, and challenges that shaped their respective eras. "Pride and
Prejudice,” set in the early 19th century, explores the constraints placed on women and the
importance of social status. On the other hand, "Great Expectations" provides a vivid
depiction of the harsh realities of Victorian society and the pursuit of wealth and status. By
reading these works, readers can gain a richer understanding of history and the evolution of
societal norms.

Moreover, classic literature delves into universal human emotions and experiences that
transcend time and place. The themes of love, ambition, jealousy, and redemption are as
relevant today as they were when these novels were written. Readers can empathize with
characters like Elizabeth Bennet and Pip because they grapple with dilemmas and emotions
that resonate with our own lives.

Additionally, classic literature challenges readers to think critically about the complexities of
human nature and society. Characters are often multifaceted, embodying both virtues and
flaws, making them relatable and thought-provoking. In "Pride and Prejudice,’ the characters'
growth and transformation highlight the importance of self-awareness and personal growth.
In "Great Expectations," we witness the consequences of ambition and the power of
forgiveness.

In conclusion, classic literature endures because it not only reflects the historical context in
which it was written but also because it speaks to our shared humanity. It encourages readers
to reflect on their own lives, values, and society, making it a valuable and enriching experience
that transcends generations. These timeless works continue to shape our understanding of
the human condition and remind us of the enduring power of literature.

SubQuestion No : 3
What is the enduring power of classic literature attributed to?
" 1. Its reflection of shared humanity and critical thinking

< 2. Its popularity among contemporary readers.
/X 3. Its ability to predict the future

/< 4. Its historical accuracy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680453660
6306801771638
6306801771639
6306801771637
6306801771636
Answered

1




Q.4

Ans

Comprehension:
Read the following passage and answer the questions below.

Classic literature stands the test of time because it delves into the timeless themes that
define the human experience and delves deep into the intricate tapestry of human emotions
and society. Works such as Jane Austen's "Pride and Prejudice” and Charles Dickens' "Great
Expectations" have a profound and enduring impact on readers for several reasons.

Firstly, these classic novels serve as windows into the past, offering us a glimpse of the
societal norms, values, and challenges that shaped their respective eras. "Pride and
Prejudice," set in the early 19th century, explores the constraints placed on women and the
importance of social status. On the other hand, "Great Expectations" provides a vivid
depiction of the harsh realities of Victorian society and the pursuit of wealth and status. By
reading these works, readers can gain a richer understanding of history and the evolution of
societal norms.

Moreover, classic literature delves into universal human emotions and experiences that
transcend time and place. The themes of love, ambition, jealousy, and redemption are as
relevant today as they were when these novels were written. Readers can empathize with
characters like Elizabeth Bennet and Pip because they grapple with dilemmas and emotions
that resonate with our own lives.

Additionally, classic literature challenges readers to think critically about the complexities of
human nature and society. Characters are often multifaceted, embodying both virtues and
flaws, making them relatable and thought-provoking. In "Pride and Prejudice,’ the characters'
growth and transformation highlight the importance of self-awareness and personal growth.
In "Great Expectations," we witness the consequences of ambition and the power of
forgiveness.

In conclusion, classic literature endures because it not only reflects the historical context in
which it was written but also because it speaks to our shared humanity. It encourages readers
to reflect on their own lives, values, and society, making it a valuable and enriching experience
that transcends generations. These timeless works continue to shape our understanding of
the human condition and remind us of the enduring power of literature.

SubQuestion No : 4

Which of the following themes is NOT mentioned as a part of classic literature in the
passage?

5 1. Jealousy
" 2. Adventure
X 3. Love

5 4. Ambition

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453661
6306801771643
6306801771642
6306801771640
6306801771641
Answered

2




Q.5
Ans

Comprehension:
Read the following passage and answer the questions below.

Classic literature stands the test of time because it delves into the timeless themes that
define the human experience and delves deep into the intricate tapestry of human emotions
and society. Works such as Jane Austen's "Pride and Prejudice” and Charles Dickens' "Great
Expectations" have a profound and enduring impact on readers for several reasons.

Firstly, these classic novels serve as windows into the past, offering us a glimpse of the
societal norms, values, and challenges that shaped their respective eras. "Pride and
Prejudice," set in the early 19th century, explores the constraints placed on women and the
importance of social status. On the other hand, "Great Expectations" provides a vivid
depiction of the harsh realities of Victorian society and the pursuit of wealth and status. By
reading these works, readers can gain a richer understanding of history and the evolution of
societal norms.

Moreover, classic literature delves into universal human emotions and experiences that
transcend time and place. The themes of love, ambition, jealousy, and redemption are as
relevant today as they were when these novels were written. Readers can empathize with
characters like Elizabeth Bennet and Pip because they grapple with dilemmas and emotions
that resonate with our own lives.

Additionally, classic literature challenges readers to think critically about the complexities of
human nature and society. Characters are often multifaceted, embodying both virtues and
flaws, making them relatable and thought-provoking. In "Pride and Prejudice,’ the characters'
growth and transformation highlight the importance of self-awareness and personal growth.
In "Great Expectations," we witness the consequences of ambition and the power of
forgiveness.

In conclusion, classic literature endures because it not only reflects the historical context in
which it was written but also because it speaks to our shared humanity. It encourages readers
to reflect on their own lives, values, and society, making it a valuable and enriching experience
that transcends generations. These timeless works continue to shape our understanding of
the human condition and remind us of the enduring power of literature.

SubQuestion No : 5
Why does classic literature stand the test of time?

4" 1. Because it often reinforces societal norms and values.

/< 2. Because it merely touches on the historical context without delving into-universal
human experiences.

/< 3. Because it predominantly centers on characters with virtues but ignores their flaws.

X 4. Because it primarily focuses on futuristic themes and emotions.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680453663
6306801771650
6306801771649
6306801771651
6306801771648
Answered

4




Q.6
Ans

Comprehension:
Read the given poem and answer the questions based on it:

Where are your monuments, your battles, martyrs?
Where is your tribal memory? Sirs,

in that grey vault. The sea. The sea

has locked them up. The sea is History.

First, there was the heaving oil,

heavy as chaos;

then, like a light at the end of a tunnel,

the lantern of a caravel,

and that was Genesis.

Then there were the packed cries,

the shit, the moaning:

Exodus.

Bone soldered by coral to bone,

mosaics

mantled by the benediction of the shark's shadow,
that was the Ark of the Covenant.

Then came from the plucked wires

of sunlight on the sea floor

the plangent harps of the Babylonian bondage,
as the white cowries clustered like manacles
on the drowned women,

and those were the ivory bracelets

of the Song of Solomon,

but the ocean kept turning blank pages

looking for History.

SubQuestion No : 6
What is the suitable title for the passage?
" 1. "The Sea is History"

/X 2."The Plangent Harps of Babylon"
/% 3."The Cries and Moans of History"

X 4."The Lost Monuments and Martyrs"

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680453697
6306801771760
6306801771762
6306801771761
6306801771763
Answered

1




Comprehension:
Read the given poem and answer the questions based on it:

Where are your monuments, your battles, martyrs?
Where is your tribal memory? Sirs,

in that grey vault. The sea. The sea

has locked them up. The sea is History.

First, there was the heaving oil,

heavy as chaos;

then, like a light at the end of a tunnel,

the lantern of a caravel,

and that was Genesis.

Then there were the packed cries,

the shit, the moaning:

Exodus.

Bone soldered by coral to bone,

mosaics

mantled by the benediction of the shark's shadow,
that was the Ark of the Covenant.

Then came from the plucked wires

of sunlight on the sea floor

the plangent harps of the Babylonian bondage,
as the white cowries clustered like manacles
on the drowned women,

and those were the ivory bracelets

of the Song of Solomon,

but the ocean kept turning blank pages

looking for History.

SubQuestion No : 7
Q.7 What is the central theme of the passage?
Ans o 1. The passage highlights the role of the sea in preserving history.

/X 2. The passage describes the history of ancient civilizations.
/% 3. The passage discusses the mysteries of the Babylonian bondage.

/< 4. The passage explores the significance of monuments and battles.

Question ID : 630680453698
Option 11D : 6306801771766
Option 2 ID : 6306801771764
Option 31D : 6306801771767
Option 4 1D : 6306801771765
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given poem and answer the questions based on it:

Where are your monuments, your battles, martyrs?
Where is your tribal memory? Sirs,

in that grey vault. The sea. The sea

has locked them up. The sea is History.

First, there was the heaving oil,

heavy as chaos;

then, like a light at the end of a tunnel,

the lantern of a caravel,

and that was Genesis.

Then there were the packed cries,

the shit, the moaning:

Exodus.

Bone soldered by coral to bone,

mosaics

mantled by the benediction of the shark's shadow,
that was the Ark of the Covenant.

Then came from the plucked wires

of sunlight on the sea floor

the plangent harps of the Babylonian bondage,
as the white cowries clustered like manacles
on the drowned women,

and those were the ivory bracelets

of the Song of Solomon,

but the ocean kept turning blank pages

looking for History.

SubQuestion No : 8
Q.8 Which word in the passage is an synonym of "benediction"?
Ans o 1.Blessing

/X 2. Curse
/5 3. Prayer
X 4. Devotion

Question ID : 630680453700
Option 11D : 6306801771773
Option 2 ID : 6306801771772
Option 31D : 6306801771774
Option 4 ID : 6306801771775
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given poem and answer the questions based on it:

Where are your monuments, your battles, martyrs?
Where is your tribal memory? Sirs,

in that grey vault. The sea. The sea

has locked them up. The sea is History.

First, there was the heaving oil,

heavy as chaos;

then, like a light at the end of a tunnel,

the lantern of a caravel,

and that was Genesis.

Then there were the packed cries,

the shit, the moaning:

Exodus.

Bone soldered by coral to bone,

mosaics

mantled by the benediction of the shark's shadow,
that was the Ark of the Covenant.

Then came from the plucked wires

of sunlight on the sea floor

the plangent harps of the Babylonian bondage,
as the white cowries clustered like manacles
on the drowned women,

and those were the ivory bracelets

of the Song of Solomon,

but the ocean kept turning blank pages

looking for History.

SubQuestion No : 9
Q.9 According to the passage, what do the white cowries resemble?
Ans X 1.Corals

/X 2. Mosaics
" 3. Manacles

25 4. Ivory bracelets

Question ID : 630680453699
Option 11D : 6306801771768
Option 21D : 6306801771769
Option 31D : 6306801771771
Option 4 ID : 6306801771770
Status : Answered
Chosen Option : 3




Q.10 Choose the sentence that uses the correct conjunction:
Ans X 1.She wanted to go to the movies, nor did she want to stay home.

Z5 2. She wanted to go to the movies, since she didn't want to stay home.

#< 3. She wanted to go to the movies, for she didn't want to stay home.

" 4. She wanted to go to the movies, but she didn't want to stay home.

Question ID : 630680453682
Option 11D : 6306801771712
Option 21D : 6306801771715
Option 31D : 6306801771713
Option 4 ID : 6306801771714
Status : Answered
Chosen Option: 3
Section : Part 1 General Odia
Q.1 6RQE “AGYQ"Q MIFQSR dQ ?
Ans X 1.Q66Q4
X 2.a6Qiq
X 3. Q66164
W 4. 2949,
Question ID : 630680452619
Option 11D : 6306801767515
Option 2 ID : 6306801767517
Option 31D : 6306801767518
Option 4 ID : 6306801767516
Status : Answered
Chosen Option : 4
Q.2 2ieql Aeleg QURGLL- I9LI 6QQ QEIQ QIRY?
Ans o 1. 5210
X 2. 6AdlGi@
X 3.06R
X 4.8099
Question ID : 630680452618
Option 11D : 6306801767512
Option 21D : 6306801767511
Option 31D : 6306801767514
Option 4 ID : 6306801767513
Status : Answered

Chosen Option :

1




Q.3

Ans

Comprehension:

AeRee Aevrag Aeg \I6° 2l 2RINER JEgPaR aaa Baig:

6Q 6¢11Q @MEl

62 6¢lIQ AMF1 | 6Q 89T, 6@ 0a 6711 @@
ale] g 2Rl K196R P1Q6R Y66l J6sl 2120 !
R QAR 6R66IE AR, 0f 0 QIR
ARG 6R60 PA-CIRQ, @A UAIGR |

2R 9606Q6R QL & Q6F1 JIgR AR6R ?
RGO 99, ARG @A 9 Al K@ 2l6a |

SubQuestion No : 3
64 @4 Q@2IG, OIF K6 GRIAN?
o 1. 6c@1
X 26010
X 3.6dla
X 4. edllal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

630680452637

6306801767578
6306801767575
6306801767577
6306801767576

: Answered
Chosen Option :

1

Q.4

Ans

Comprehension:

Feee Ae4Pag deg \6° Rl 2RINER JEgPaR aaa Baig:

62 671IQ @mel

62 6710 @Rel | HQ BQQT, 62 6Q 6171 @@
ale] g 2Rl K196R P1Q6R Y66l J66l 2120 !
R4 QFIQ 696015 ARG, 0g 09 Qam
QRS 6R60 PA-CIRQ, @A UAIGR |

2R 9606Q6R Q8 & Q6¢1 JIgR AR6R ?
K19 @9, QRIS AQ I F1QI FIGR 26! |

SubQuestion No : 4
2ALAQ X6 UQEQ 61K ?
o 1.69
X 2.29Q61Q
X 3. uedge
X 4.29008

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Not Answered
Chosen Option :

Status

630680452639

6306801767583
6306801767585
6306801767584
6306801767586




Q.5

Ans

Comprehension:

ReRee AeYrag Aeg \I6° 21 2RINER JggPaR aaa Baig:

6Q 6¢11Q @mET

62 6¢lIQ AMF1 | 6Q 89T, 6@ 9a 6711 @@
ale] g 2Rl K960 P1Q6R Y66l J6sl 2120 !
R QAR 6R6EIT AR, 0F 09 QIR
QRS 6R60 PA-CIRQ, A UAIGR |

2R 9606Q6R Q0 & Q6F1 JIgR AR6R ?
RGO 99, ARG @A I ARl K@ 2l6a |

SubQuestion No : 5
661G “ga” aaa giee ?
o 1.00Q
X 2.d0eq
X 3.a9
p R Salla]

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680452638
6306801767582
6306801767579
6306801767580
6306801767581
Answered

1

Q.6

Ans

Comprehension:

Aeee Aevrag deg \I6° 21 2RINER JEgPaR aaa Baig:

62 671IQ @mel

62 6¢1IQ @Rel | HQ BQQT, 62 6Q 67171 @@
ale] g 2Rl R196R P1Q6R Y66l J66l 2120 !
FRY QFIQ 696015 ARG, 0g 09 QaR
ARG 6R60 PA-CIRQ, @A UAIGR |

2R 9606Q6R Q0 & Q6F1 JIgR AR6R ?
K190 @9, QQYE AQ I F1QI FIGR 26! |

SubQuestion No : 6

"GN AFER" QURIICEIER “TIFR” 626 MIRQER AR ?
o 1. 566106
X 2. 2040
X 3. Q66|

X 4.960i¢

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680452640
6306801767588
6306801767590
6306801767587
6306801767589
Answered

1




Comprehension:
REReo GR4rag deg \Ie° 2l 2RIRER JggPaR aaa Baig:

QIFINA LIG B 2IRIFIA 0L

¢ aag gseiag 9@ 2QIe ARSR FRIER AIT QIR AP@R; FIREl ¢ QAR 626R 4RI 699 16 FRIRR |

09 2igR QIAQIA AgYRI; Fg 012l 60 6760 QAR 2, ] 9ER RAR ? 6760 8ig A’ RisEa *d ZIRIEY
oIf 099 216 @RI |

SubQuestion No : 7
Q.7 6966 “eQ"a gbae ?
Ans X 1.9
X 2,999
" 3. 68
X 4.ad

Question ID : 630680452591
Option 11D : 6306801767422
Option 2 ID : 6306801767421
Option 31D : 6306801767419
Option 4 ID : 6306801767420
Status : Answered
Chosen Option : 3

Comprehension:
Fee GR4aIp ARg \Ie° 2l 2RNIRER JEFPaR aaQ Baig:

QIFING RIG B 2IRIFIA 0L

¢ ang geeiRg 9@ ZRIQ ARSR A6 FIS RIP JGRR; RIQE ¢ QIFR 626R 4RI 09 210 @RIRM |
0g 2igg QAR FgER; g G121 60 6760 QAR M, ¢ 9BR FAR ? 6260 &g A AIslen AT 2IRIsIg
018 099 216 QLI |

SubQuestion No : 8
Q.8 &g Izl QIsiea @8 QIQIG 216 ARI?

Ans @ 1.00Q
X 2. Qe
X 3.a09g
X 4.999

Question ID : 630680452592
Option 11D : 6306801767424
Option 21D : 6306801767423
Option 31D : 6306801767426
Option 41D : 6306801767425
Status : Answered
Chosen Option : 1




Comprehension:
REREo GR4rag ARy \Ie° 2l 2RIRER JEgPaR aaa Baig:

QIFINA LIG B 2IRIFIA 0L

¢ aag gseiag 9@ 2QIe ARSR FRIER AIT QIR AP@R; FIREl ¢ QAR 626R 4RI 699 16 FRIRR |

09 2igR QIAQIA AgYRI; Fg 012l 60 6760 QAR 2, ] 9ER RAR ? 6760 8ig A’ RisEa *d ZIRIEY
oIf 099 216 @RI |

SubQuestion No : 9
Q.9 ©g g QA FgAMI- 9@ QIRIER 6RAE FAUT6ETE?
Ans X 1.Gg2ml
o 2.9001Q
X 3.09
X 4.9

Question ID : 630680452593
Option 11D : 6306801767427
Option 2 ID : 6306801767428
Option 3 1D : 6306801767430
Option 4 ID : 6306801767429
Status : Answered
Chosen Option : 2

Comprehension:
Fee GR4aIp ARg \Ie° 2l 2RNIRER JEFPaR aaQ Baig:

QIFING RIG B 2IRIFIA 0L

¢ ang g8e1Rg 9@ ZRIQ ARSR FIIER FIF RIP JGRR; FINE ¢ QIFR 626R 4RI 09 210 QIR |
0g 2igg QIRQIA AgER; g G121 60 6760 QAR M, ¢ 9B FAUR ? 6760 &g A AIsien AT 2IRIsIg
018 099 216 QLI |

SubQuestion No : 10

Q.10 ¢f 9Ag @8ciag A8 ANIQ ARER AUER AIF QIE AFER; 98 QIRY6R ¢f 16Q Q1996 Aea
QUIeadie 6Fag @a?

Ans X 1.Q66@4
K 2.2e49,
" 3. 566106

X 4.84

Question ID : 630680452590
Option 11D : 6306801767416
Option 2 ID : 6306801767417
Option 31D : 6306801767415
Option 41D : 6306801767418
Status : Answered
Chosen Option: 1

Section : Part 1 General Knowledge and Current Affairs




Q.1 The Govt of Odisha in August 2023 approved nine new projects worth investment of
which will create employment opportunities for 2,500 people in the state.

Ans X 1.Rs 873 lakhs
X 2.Rs 8 crore
" 3. Rs 873 crore
/5 4.Rs 100 crore

Question ID : 630680453334
Option 11D : 6306801770346
Option 21D : 6306801770347
Option 31D : 6306801770344
Option 4 1D : 6306801770345
Status : Not Answered
Chosen Option : --
Q.2 The simplest turbines have one ______,a rotor-blade assembly.
Ans  # 1. moving part
X 2. fixed part
#< 3. non moving blade
X 4. fluid
Question ID : 630680453370
Option 11D : 6306801770489
Option 2 ID : 6306801770490
Option 31D : 6306801770491
Option 4 ID : 6306801770488
Status : Not Answered
Chosen Option : --
Q.3 India has a parliamentary form of government based on
Ans X 1.economic social franchise
#< 2.internal adult franchise
& 3. universal adult franchise
/5 4. national franchise
Question ID : 630680453382
Option 11D : 6306801770539
Option 21D : 6306801770536
Option 31D : 6306801770538
Option 4 1D : 6306801770537
Status : Answered
Chosen Option: 3
Q.4 g8 Q64 2022 (2 A6Q199,2022) 2R 1 AAQ @F ERIGAEI QI AU AR _____
agoIq g QIR Q6 IR AIRARI |
Ans & 1.99Ql
X 2. 6612l
X 3. @¢10% 64l
X 4. edee
Question ID : 630680453346
Option 11D : 6306801770395
Option 2 ID : 6306801770392
Option 31D : 6306801770394
Option 41D : 6306801770393
Status : Marked For Review
Chosen Option : 2




Q.5 6ROIF TPC QA | 6d 22 AEAFA, 1899 6Q AINKICTIAR 60gRAYLI 6Q FRYRE FAL6R | 6Q 9@
Qdl FERIGA YoM | 64 IRIRT AGUISINT F6RE SIARFINF FQNEA AT FAGIQ AR 9Q° IR

qeR QQIe a86 gL A6 |
Ans X 1.Q6Qg d6QI0e
X 2. 0luae &
o 3. ARE QIR
X 4. el @°
Question ID : 630680453352
Option 11D : 6306801770417
Option 21D : 6306801770419
Option 31D : 6306801770418
Option 41D : 6306801770416
Status : Answered
Chosen Option: 3
Q.6 ______is appointed as the new President of World Bank succeeding David Malpass in May
2023.
Ans X 1. Anshula Kant
< 2. Ajay Mishra
< 3. Axel van Trotsenburg
" 4. Ajay Banga
Question ID : 630680453340
Option 11D : 6306801770369
Option 21D : 6306801770368
Option 31D : 6306801770371
Option 41D : 6306801770370
Status : Not Answered
Chosen Option : --
Q7 A is composed of two chains of mountains separated by a large depression.
Ans X 1.trench
& 2. mid-oceanic ridge
X 3. continental slope
/5 4. ocean beds
Question ID : 630680453388
Option 11D : 6306801770561
Option 21D : 6306801770560
Option 31D : 6306801770562
Option 41D : 6306801770563
Status : Answered
Chosen Option : 2




Q.8 There are two types of vitamins: water-soluble and
Ans X 1.air-soluble.

Z5 2. blood-soluble
#< 3. carbon-soluble
+" 4. fat-soluble

required in body.

Question ID : 630680453358
Option 11D : 6306801770442
Option 2 ID : 6306801770441
Option 31D : 6306801770443
Option 4 1D : 6306801770440
Status : Answered
Chosen Option: 4
Q.9 The solution to the supply side of the vicious circle: should be done.
Ans X 1.Adecrease in savings and investments
X 2. Anincrease in savings and decrease in investments
4" 3. An increase in savings and investments
XX 4. A decrease in savings and increase in investments
Question ID : 630680453364
Option 11D : 6306801770466
Option 21D : 6306801770465
Option 31D : 6306801770464
Option 41D : 6306801770467
Status : Answered
Chosen Option : 2
Q.10 In____, the Indian National Congress was formed which played a significant role in India's
freedom movement.
Ans X 1.1800
«" 2.1885
& 3.1945
X 4.1895
Question ID : 630680453376
Option 11D : 6306801770514
Option 21D : 6306801770513
Option 31D : 6306801770515
Option 41D : 6306801770512
Status : Answered
Chosen Option : 2

Section : Part 1 Reasoning Ability




Q.1

Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-

cluster pair.
Ans X 1. WLT : XKK
X 2. DGW : EFX
« 3 PRI:QS]
X 4. RDN : SCO
Question ID : 630680453308
Option 11D : 6306801770241
Option 2 ID : 6306801770240
Option 31D : 6306801770243
Option 4 ID : 6306801770242
Status : Answered
Chosen Option : 3
Q.2  Two Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to
be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statements:
Statement I: Some footballers are cricketers.
Statement II: Some cricketers are not athletes.
Conclusions:
Conclusion I: Some athletes are not footballers.
Conclusion II: Some athletes are cricketers.
Ans X 1. Only conclusion I follows
X 2. Only conclusion II follows
+ 3. Neither conclusion I nor II follows
< 4. Both conclusions I and II follow
Question ID : 630680453326
Option 11D : 6306801770312
Option 21D : 6306801770313
Option 31D : 6306801770315
Option 4 ID : 6306801770314
Status : Answered
Chosen Option : 2
Q3 Which two signs should be interchanged to make the given equation correct?
15+4+5-8=x11=135
Ans X1 +and +
X 2 xand -
X3 -and~+
+ 4 xand +
Question ID : 630680453272
Option 11D : 6306801770099
Option 2 ID : 6306801770097
Option 31D : 6306801770098
Option 4 ID : 6306801770096
Status : Answered

Chosen Option : 4




Q.4 9% 965Ye AWD-YE60 979 289G RN 9669 9GIR S, 6969 Y8F d0¢ 696615 A89-¢8 99 999dQ 2lag
699 ?

TRAIN LENGTH LOCKER TIRED MINGLE
Ans 1.3

X2 4
X3 1
X4 2

Question ID : 630680453284

Option 11D : 6306801770145
Option 21D : 6306801770147
Option 3 ID : 6306801770146
Option 41D : 6306801770144

Status : Answered

Chosen Option : 2

Q.5 Rahim ranks 45th from the bottom in a test of 90 students. Find his rank from the top.
Ans X1 41st

X 2. 47th

X 3. 45th

« 4 46th

Question ID : 630680453314

Option 11D : 6306801770264
Option 21D :
Option 31D :
Option 41D :

6306801770266
6306801770267
6306801770265

Status : Answered

Chosen Option : 4

Q@6 If <A x B’ means ‘A is the daughter of B’
If *‘A+ B’ means ‘A is the son of B".
If ‘A + B"means ‘A is the wife of B’.
If ‘A — B’ means A is the husband of B".

How is W related to V in the expression ‘U - W x § +V'?
Ans X 1. Mother

« 2. Daughter

X 3. Sister

X 4 Wife

Question ID :
Option 11D
Option 21D :
Option 31D
Option 41D :
Status:
Chosen Option :

630680453290

1 6306801770171

6306801770170

: 6306801770168

6306801770169
Answered
2




Q.7

Select the option that is related to the third number in the same way as the second number is related to the first number.
2465: 17 :: 879846 : 7

Ans 1. 42
X 2. 66
X3 28
X4 54
Question ID : 630680453278
Option 11D : 6306801770121
Option 21D : 6306801770123
Option 31D : 6306801770120
Option 4 ID : 6306801770122
Status : Answered
Chosen Option : 1
Qs In a certain code language, if FIFTEEN is coded as OCFRGGG. EIGHTEEN is coded as LFCUFHGEF, then what will SIXTEEN be
coded as?
Ans 1. OCFRYGT
X 2. OCFRFHGF
X 3. OCFRIEIC
X 4 LFCUIEIC
Question ID : 630680453296
Option 11D : 6306801770193
Option 2 1D : 6306801770192
Option 31D : 6306801770194
Option 4 1D : 6306801770195
Status : Answered
Chosen Option : 1
Q_9 Seven girls Raman, Subham, Gaurav, Mayank, Akshay, Binod, and Sourav are sitting around a circular table facing the centre. Raman
and Gaurav are not sitting next to each other. Sourav is sitting between Binod and Mayank. Mayank is sitting to the immediate left of
Raman. Subham is sitting between Akshay and Gaurav. Who is sitting to the immediate left of Akshay?
Ans X 1. Sourav
X 2. Binod
+ 3. Raman
X 4. Subham
Question ID : 630680453320
Option 11D : 6306801770289
Option 2 1D : 6306801770291
Option 31D : 6306801770290
Option 4 1D : 6306801770288
Status : Answered
Chosen Option: 3




Q.10 Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is related to the
third number-letter cluster and the second number-letter cluster is related to the first number-letter cluster.
COCONUT : TUNCOCO :: BRINJTAL : LATIRBN :: PEA : 7

Ans X 1. AEP
X< 2. EAP
« 3. APE
< 4 EPA
Question ID : 630680453302
Option 11D : 6306801770216
Option 21D : 6306801770219
Option 31D : 6306801770217
Option 41D : 6306801770218
Status : Answered
Chosen Option: 1
Section : Part 1 Computer Literacy
Q.1 Which data structure organizes data in a hierarchical format with parent-child
relationships?
Ans o 1. Tree
X 2. Stack
< 3.Graph
X 4. Queue
Question ID : 630680452723
Option 11D : 6306801767906
Option 21D : 6306801767907
Option 31D : 6306801767905
Option 4 1D : 6306801767904
Status : Answered
Chosen Option: 1
Q.2 What is the function of the Task Manager in operating systems like Windows?
Ans X 1.File management
X 2. System backup
+#" 3. Process and resource monitoring
ZX 4. User authentication
Question ID : 630680452729
Option 11D : 6306801767928
Option 21D : 6306801767929
Option 31D : 6306801767930
Option 41D : 6306801767931
Status : Answered
Chosen Option: 3




Q.3 What is the purpose of the Internet Protocol (IP) header's Time-to-Live (TTL) field?
Ans X 1. To prioritize packets based on their importance

" 2. To prevent packets from circulating endlessly in the network
/< 3.Toindicate the time it takes for a packet to reach its destination

X 4. To specify the maximum bandwidth for a packet

Question ID : 630680452705
Option 11D : 6306801767835
Option 2 1D : 6306801767834
Option 31D : 6306801767833
Option 41D : 6306801767832
Status : Not Answered
Chosen Option : --
Q.4 Which computer port is commonly used to connect external devices such as keyboards,
mouse, and printers?
Ans X 1.VGA
2 2. HDMI
«” 3.USB
X 4. Ethernet
Question ID : 630680452717
Option 11D : 6306801767883
Option 2 1D : 6306801767880
Option 31D : 6306801767881
Option 4 1D : 6306801767882
Status : Answered
Chosen Option : 3
Q.5 What is the main ethical concern related to the use of big data analytics in business and
government?
Ans X 1.High processing costs
/< 2. Limited storage capacity
+# 3. Data security and privacy
< 4. Availability of skilled data analysts
Question ID : 630680452711
Option 11D : 6306801767857
Option 21D : 6306801767856
Option 31D : 6306801767859
Option 41D : 6306801767858
Status : Answered
Chosen Option: 3

Section : Part 1 Child Development Learning Curriculum and Assessment




Q.1

Ans

In curriculum construction, which principle ensures a well-rounded exposure to various

disciplines without overemphasis on any single area?
#< 1. Overload

+" 2. Balance
X 3. Monotony
/X 4.Bias

Question ID : 630680452870
Option 11D : 6306801768495
Option 2 1D : 6306801768494
Option 31D : 6306801768492
Option 4 ID : 6306801768493
Status : Answered
Chosen Option : 2

Q.2 JAIMER AQIVEOIQ IR 6ATETIMG RUIFS (portfolio assessment) FAR QG 21662

Ans

< 1,921 61168 IRk)@ Faq QI 96| Qd6a ARIAG |
X 2,921 2199191& JRdea 665N QIdag @YIeQ @R2IN |
X 3,921 QI 99° 6R0R 9l JAIRI 9 RS K6Q |

o 4.2 2198101F IRIeTIR G190Q FRY QUIGINg ARy KA AANPAIER F6Ee 94 |

Question ID : 630680452894
Option 11D : 6306801768591
Option 21D : 6306801768589
Option 31D : 6306801768588
Option 41D : 6306801768590
Status : Answered
Chosen Option : 4

Q.3 In which approach is the focus primarily on the transmission of knowledge from teacher to

Ans

student?
< 1. Activity based

#< 2. Learning centered
¥ 3. Teacher centered

/X 4. Learner centered

Question ID : 630680452852
Option 11D : 6306801768423
Option 21D : 6306801768421
Option 31D : 6306801768422
Option 41D : 6306801768420
Status : Answered
Chosen Option: 3

Q.4 Which age group is primarily covered by the Right to Education (RTE) Act?

Ans

25 1.10-18 years
X 2.3-8years
/X 3.5-12 years
o 4. 6-14 years

Question ID : 630680452858
Option 11D : 6306801768446
Option 2 ID : 6306801768444
Option 31D : 6306801768447
Option 4 ID : 6306801768445
Status : Answered
Chosen Option : 4




Q.5 In adolescence, the quest for establishing identity becomes crucial. This need for identity

Ans

formation is a central theme in which of Erik Erikson's stages?
25 1. Initiative vs. Guilt

+#" 2. Identity vs. Role Confusion
X 3. Autonomy vs. Shame and Doubt

Z5 4. Industry vs. Inferiority

Question ID : 630680452924
Option 11D : 6306801768709
Option 2 ID : 6306801768711
Option 3 ID : 6306801768708
Option 4 1D : 6306801768710
Status : Answered
Chosen Option : 2
Q.6 Qg 6gaN9e AR I FVE RITIRRIA QIRQ! 6967 IR JIAAR FINQE @617
Ans X 1. QdieRIe 690! |
X 2. 9210 2y 9e° RIgejel AFIL, |
X 3. 9210 @EREI e 2GRNl |
o 4. A0Y9FIQ QEREY IB6 IRIQ 66EIQRG! |
Question ID : 630680452900
Option 11D : 6306801768612
Option 2 ID : 6306801768615
Option 3 ID : 6306801768614
Option 4 1D : 6306801768613
Status : Answered
Chosen Option : 4
Q.7 QNILRIA-Q@e a8E (activity-based approach) & g6l QAIQIR &'&1?
Ans X 1.4726Q 2l6menl (50 F9aar)
o 2. QdIeRId (A19R5R)
X 3. aquml (NQIAsRaR)
X 4. 2RIARI (6RPOR)
Question ID : 630680452846
Option 11D : 6306801768397
Option 2 ID : 6306801768398
Option 3 ID : 6306801768399
Option 4 ID : 6306801768396
Status : Answered
Chosen Option : 2
Q.8 626 RINETER Fga 670R RIGAIY B FGIAg JNITE FAIQ AAQR! 2R 21g?
Ans X 1. GEAIIFER 606 QIR 2108
X 2. 904IR0, AI0Y¢ B SlIRRIe
o 3. 6@ 066 9Q° AIRRAIRE
X 4. QAURDER 2Rl AR diNFinaq AIg@e 01d
Question ID : 630680452918
Option 11D : 6306801768685
Option 2 ID : 6306801768686
Option 3 ID : 6306801768687
Option 41D : 6306801768684
Status : Answered
Chosen Option: 3




Q.9 qm@e-qrq@e 20g9a JRIAING Sl 60QI6Q 626! QRS 2YR JAUQEIRT 621R2I1N?

Ans X 1.609f AI0I9YR QU6 IR 609! |
+ 2. R8I0 9RAI6R 6aFIRGR A°GP G AITIQ AQER FAQ! |

X 3627100 9EQde 266ad @QQ! |

X 4. 6097 daRI QIAIER SRR |

Question ID : 630680452882
Option 11D : 6306801768543
Option 21D : 6306801768542
Option 31D : 6306801768540
Option 41D : 6306801768541
Status : Answered
Chosen Option : 2

Q.10 Which teaching strategy is effective for CWSN with attention deficit disorders?
Ans " 1. Frequent breaks and interactive sessions.

< 2. Large class sizes without individual attention.
< 3. Sole reliance on written exams.

X 4. Long, uninterrupted lecture sessions.

Question ID : 630680452876
Option 11D : 6306801768517
Option 2 ID : 6306801768519
Option 31D : 6306801768518
Option 4 ID : 6306801768516
Status : Answered
Chosen Option : 1

Q.11 Which of the following strategies can be effective in aiding a child with developmental
delays?

Ans  # 1. Employing tailored intervention strategies and therapies.
X 2. Isolating them from their peers to avoid comparison.
#% 3. Discouraging them from trying tasks they struggle with.

#< 4. Focusing solely on academic excellence:

Question ID : 630680452930
Option 11D : 6306801768733
Option 2 ID : 6306801768732
Option 31D : 6306801768735
Option 4 1D : 6306801768734
Status : Not Answered
Chosen Option : --

Q.12 Why might an educator use observation as an assessment technique?

Ans 1. To understand the behavioral patterns and practical application of knowledge by

students.

/5 2. To evaluate a student's memory recall exclusively.
25 3. To test mathematical computation skills.

X 4. To assess a student's ability to write long essays.

Question ID : 630680452888
Option 11D : 6306801768565
Option 2 ID : 6306801768564
Option 3 1D : 6306801768566
Option 4 ID : 6306801768567
Status : Answered
Chosen Option: 1




@6Q?
Ans X 1.4 3agee! (Static consistency)
o 2. JI9@a06! (Relevance)
& 3. 9@0l (Rigidity)
X 4.989e! (Isolation)

Q.13 606 @16 gRGE Q6a 64, AaIZh G AFAIRQ AIFER Ie° AGNIER IQEIREIG AICISA AARIR

Question ID : 630680452864
Option 11D : 6306801768468
Option 2 ID : 6306801768469
Option 3 1D : 6306801768470
Option 4 ID : 6306801768471
Status : Answered
Chosen Option : 1
Q.14 How does a stimulating environment during early childhood primarily influence
development?
Ans X 1. It guarantees high IQ in adulthood.
X 2.1t changes the child's eye color.
< 3.1t alters basic genetic traits.
& 4.1t enhances synaptic connections in the brain.
Question ID : 630680452912
Option 11D : 6306801768662
Option 2 ID : 6306801768663
Option 3 1D : 6306801768660
Option 41D : 6306801768661
Status : Answered
Chosen Option : 4
Q.15 A teacher removes a task deemed as unpleasant for a student once they complete their
assignment. This is an example of:
Ans X 1.Negative punishment.
X 2. Positive reinforcement.
¥ 3. Negative reinforcement.
/5 4. Neutral response.
Question ID : 630680452906
Option 11D : 6306801768638
Option 2 ID : 6306801768637
Option 3 ID : 6306801768636
Option 4 ID : 6306801768639
Status : Answered
Chosen Option: 3

Section : Part Il Subject Contents




Q.1

If 512 identical small spheres are made out of a big sphere of diameter 16 cm, what is the surface area of each small sphere?

Ans X1 7w em?
X 2 8mcm?
X 3 2mcm?
o 4 dm cn??
Question ID : 630680453605
Option 11D : 6306801771431
Option 2 ID : 6306801771430
Option 31D : 6306801771428
Option 4 ID : 6306801771429
Status : Answered
Chosen Option: 4
Q.2 Asix - digit number 45623A is divisible by 9 where A is a single digit whole number. Find the value of A.
Ans X 1.0
X228
X35
47
Question ID : 630680453575
Option 11D : 6306801771309
Option 2 ID : 6306801771310
Option 31D : 6306801771308
Option 41D : 6306801771311
Status : Answered
Chosen Option : 4
@3 Which of the geometrical shapes has 0 lines of symmetry?
Ans 1. Trapezium
X 2. Pentagon
X 3. Rhombus
X 4. Square
Question ID : 630680453599
Option 11D : 6306801771404
Option 2 ID : 6306801771406
Option 31D : 6306801771407
Option 4 ID : 6306801771405
Status : Answered

Chosen Option :

1




Q4 Find the value of [(21 — 7) + 2] + [84 — 12 + 3 of 2].

Ans X 1. 81
X277
X3 80
4 83
Question ID : 630680453593
Option 11D : 6306801771380
Option 21D : 6306801771383
Option 31D : 6306801771382
Option 41D : 6306801771381
Status : Answered
Chosen Option: 4
@5 Based on the given pattern identify the missing number.
3+7=70
4+6=60
2+8=80
1+9=7
Ans X110
X211
X3 82
« 4 90

Question ID : 630680453551
Option 11D : 6306801771212
Option 21D : 6306801771215
Option 31D : 6306801771214
Option 41D : 6306801771213
Status : Answered
Chosen Option : 4




Q.6  The given histogram shows the marks of 60 students in a class. Find the sum of cumulative frequency of class interval 20-30 and the

cumulative frequency of class intervals 40-50

18

Number of students

17

10 to 20 20 to 30 30 to 40 40 to 50
Marks
Ans 1. 60
<270
~< 3350
« 4 80
Question ID : 630680453557
Option 11D : 6306801771238
Option 2 ID : 6306801771236
Option 3 1D : 6306801771239
Option 4 ID : 6306801771237
Status : Not Answered
Chosen Option : --
Q7 Find the value of {12 % 35+ 7 x 6} + 60.
Ans X118
X2 9
X3 7
40
Question ID : 630680453581
Option 11D : 6306801771334
Option 2 ID : 6306801771335
Option 31D : 6306801771332
Option 4 ID : 6306801771333
Status : Answered
Chosen Option : 4
Q8 If the perimeter of a square is 188 m. Find the area of the square.
Ans X 1. 2400 m?
X2 2109 m?
« 3. 2209 m?
X 4. 2349
Question ID : 630680453569
Option 11D : 6306801771287
Option 2 ID : 6306801771286
Option 31D : 6306801771285
Option 4 ID : 6306801771284
Status : Answered
Chosen Option: 3




Q.9
Find the value of (% T i) 42+06+1.7x04

13
Ans X 1. 0.66
« 2. (.68
X3 0.55
< 4 0.56
Question ID : 630680453587
Option 11D : 6306801771359
Option 2 ID : 6306801771357
Option 31D : 6306801771358
Option 4 ID : 6306801771356
. Not Attempted and
Status - Marked For Review
Chosen Option : --

Q.10 If |5 boxes contain 1455 kg of apples then find the quantity of apples in 3 boxes.

Ans X 1. 252kg
2 291 kg
X 3. 201 kg
X 4 243 kg
Question ID : 630680453567
Option 11D : 6306801771277
Option 21D : 6306801771278
Option 3 ID : 6306801771279
Option 41D : 6306801771276
Status : Answered
Chosen Option : 2
Q.11 Odisha is a leading producer of which of following minerals in India?
Ans X 1.Bauxite
5 2. Aluminium
X 3. Coal
«" 4. Manganese
Question ID : 630680453253
Option 11D : 6306801770021
Option 2 1D : 6306801770023
Option 31D : 6306801770022
Option 41D : 6306801770020
Status : Answered
Chosen Option : 1




Q.12 Work can be define as :
Ans X 1. Work done = Area x displacement

Z5 2. Work done = force x speed
& 3. Work done = force x displacement

X 4. Work done = pressure x displacement

Question ID : 630680453241
Option 11D : 6306801769975
Option 2 ID : 6306801769973
Option 31D : 6306801769972
Option 4 ID : 6306801769974
Status : Answered
Chosen Option: 3
Q.13 JRQI JIR QALY 6LINAQI KRG QRIAN |
Ans X 1.QR8-04990 @F
o 2. 4910 00
x 3. JR8-0xsl6dIay @
X 4.00100 6R
Question ID : 630680453223
Option 11D : 6306801769902
Option 2 ID : 6306801769901
Option 3 1D : 6306801769900
Option 4 ID : 6306801769903
Status : Answered
Chosen Option : 2
Q.14 Which of the following is not a classification of natural disasters?
Ans X 1. Terrestrial
< 2. Atmospheric
+" 3. Industrial
/X 4. Biological
Question ID : 630680453259
Option 11D : 6306801770045
Option 2 ID : 6306801770044
Option 3 ID : 6306801770047
Option 4 ID : 6306801770046
Status : Answered
Chosen Option: 3
Q.15 Environmental Protection Act, was established in:
Ans X 1.1988
X 2.1989
o 3.1986
X 4.1987
Question ID : 630680453211
Option 11D : 6306801769854
Option 2 1D : 6306801769855
Option 3 ID : 6306801769852
Option 4 ID : 6306801769853
Status : Not Answered
Chosen Option : --




Q.16 When the body temperatures fall down 35°C, situation is known as:

Ans " 1. Hypothermia
X 2. Hyperthermia
< 3. Mesothermia

X 4. Eurothermia

Question ID : 630680453217
Option 11D : 6306801769878
Option 2 ID : 6306801769876
Option 3 1D : 6306801769877
Option 4 ID : 6306801769879
Status : Answered
Chosen Option: 3
Q.17 Which of the following force is responsible for deflecting winds towards the right in the
northern hemisphere and towards the left in the southern hemisphere?
Ans 4 1. Coriolis Force
X 2. Frictional Force
< 3. Gravitational Force
X 4. Electromagnetism Force
Question ID : 630680453265
Option 11D : 6306801770071
Option 2 1D : 6306801770070
Option 3 1D : 6306801770068
Option 4 1D : 6306801770069
Status : Not Answered
Chosen Option : --
Q.18 Which of the following Acts was passed by the British ruler against Indian Political
members?
Ans X 1. Political Act
/X 2. Civil Disobedience Act
+«" 3. Rowlatt Act
X 4. Boycott Act
Question ID : 630680453229
Option 11D : 6306801769926
Option 21D : 6306801769927
Option 3 ID : 6306801769924
Option 4 1D : 6306801769925
Status : Answered
Chosen Option: 3
Q.19 A force of 10 N is acting on an object. The object is displaced through 2 m in the direction
of the force. If the force acts on the object all through the displacement, then work done is:
Ans X 1.8Nm
o 2.20Nm
X 3.12Nm
2 4.5Nm
Question ID : 630680453247
Option 11D : 6306801769997
Option 2 ID : 6306801769999
Option 3 1D : 6306801769998
Option 4 ID : 6306801769996
Status : Answered
Chosen Option : 2




Q.20

is a graphical representation of the electrical activity of the heart during a cardiac

cycle.
Ans X 1.DCG
& 2.BCG
«" 3. ECG
X 4.ACG
Question ID : 630680453235
Option 11D : 6306801769951
Option 2 ID : 6306801769949
Option 3 ID : 6306801769950
Option 4 ID : 6306801769948
Status : Not Answered
Chosen Option : --
Q.21 Fill in the blank with the correct preposition.
She found the missing keys the sofa cushions.
Ans X 1.during
X 2. atop
¥ 3. amongst
/5 4. throughout
Question ID : 630680453755
Option 11D : 6306801771972
Option 2 ID : 6306801771975
Option 31D : 6306801771974
Option 4 ID : 6306801771973
Status : Not Answered
Chosen Option : --
Q.22 Fill in the blank with the correct irregular verb.
He across the country on a road trip last summer.
Ans X 1.drives
X 2. drive
#< 3.driving
" 4. drove
Question ID : 630680453761
Option 11D : 6306801771997
Option 2 ID : 6306801771996
Option 31D : 6306801771999
Option 4 ID : 6306801771998
Status : Answered
Chosen Option : 2




Q.23 Complete the sentence with the appropriate article to make it grammatically correct.

Did she wear _____ dress, her grandmother gave her, to the party?
Ans o 1.the
X 2.some
X 3.a
X 4.an
Question ID : 630680453731
Option 11D : 6306801771878
Option 2 ID : 6306801771879
Option 3 1D : 6306801771877
Option 4 ID : 6306801771876
Status : Answered
Chosen Option : 1
Q.24 Choose the correct punctuation from the given options:
The recipe calls for flour, sugar, eggs vanilla extract, and a bowl.
Ans X 1.question mark
X 2. colon
< 3. full stop
¥ 4. comma
Question ID : 630680453767
Option 11D : 6306801772022
Option 2 ID : 6306801772023
Option 31D : 6306801772020
Option 4 ID : 6306801772021
Status : Answered
Chosen Option : 4
Q.25 The word given in the brackets defines the modification of the noun. Based on this
understanding fill in the blank with the correct adjective from the given options.
She was captivated by the (amusing) story that unfolded on the pages of the old,
dusty book.
Ans X 1.melodious
" 2. whimsical
< 3. metallic
/5 4. apprehensive
Question ID : 630680453737
Option 11D : 6306801771902
Option 2 ID : 6306801771900
Option 31D : 6306801771901
Option 4 ID : 6306801771903
Status : Not Answered

Chosen Option :




Q.26 Choose the correct punctuation from the given options:
He asked if they had any plans for the weekend

Ans X 1.comma

" 2. full stop
X 3. colon

/5 4. question mark

Question ID : 630680453773
Option 11D : 6306801772045
Option 21D : 6306801772044
Option 31D : 6306801772047
Option 41D : 6306801772046
Status : Answered
Chosen Option : 2
Q.27 Fill in the blank with the correct collective noun.
The of students was excited as they prepared for their field trip to the museum.
Ans X 1.colony
X 2.team
#< 3. herd
" 4.class
Question ID : 630680453749
Option 11D : 6306801771950
Option 21D : 6306801771951
Option 31D : 6306801771949
Option 41D : 6306801771948
Status : Answered
Chosen Option : 2
Q.28 Complete the sentence with the correct form of the tense:
Tomorrow at this hour, | for my final exam.
Ans X 1. will have studied
X 2. study
" 3. will be studying
X 4. have been studying
Question ID : 630680453779
Option 11D : 6306801772068
Option 2 1D : 6306801772070
Option 31D : 6306801772069
Option 4 1D : 6306801772071
Status : Not Answered

Chosen Option :




Q.29 Fill in the blank with the correct adverb

The orchestra played the classical piece and with great precision, earning a standing
ovation.

Ans " 1. harmoniously
/5 2. dangerously
25 3. nervously
X 4. conversely

Question ID : 630680453743
Option 11D : 6306801771924
Option 2 ID : 6306801771926
Option 31D : 6306801771925
Option 4 ID : 6306801771927
Status : Not Answered
Chosen Option : --
Q.30 Complete the sentence with the correct form of the tense:
He couldn't believe that someone his bike.
Ans X 1.is stealing
" 2. had stolen
X 3.steals
X 4. stole
Question ID : 630680453785
Option 11D : 6306801772095
Option 2 ID : 6306801772094
Option 3 1D : 6306801772093
Option 4 ID : 6306801772092
Status : Answered
Chosen Option : 2
Q.31 ‘e’ aQF6q QIege Qaaccg 59 @a ?
Ans X 1.8
X 2.9a
«3.99
X 4.99
Question ID : 630680453853
Option 11D : 6306801772364
Option 2 ID : 6306801772367
Option 3 ID : 6306801772366
Option 4 ID : 6306801772365
Status : Answered
Chosen Option : 3
Q.32 CIEPIIQ YRGS AF Y6M — AQTER S0l F661VETG Fge @a ?
Ans o 1.9QIQ0G8
X 2. 26m
< 3.09
X 4. gerRIa
Question ID : 630680453846
Option 11D : 6306801772338
Option 2 ID : 6306801772339
Option 31D : 6306801772337
Option 4 ID : 6306801772336
Status : Answered
Chosen Option: 3




Q.33 '6RIQ gF6a &’ - QF aata 212 &g12 ?
Ans X 1. 969 FIRQIQ gUd @Qe!

o 2. 69 QFTQl

X 3. QldQ AR6QIQ 6LIRR! @AR!

X 4. 00910 QI6lEa gF @0 Qge!

Question ID : 630680453884
Option 11D : 6306801772490
Option 2 ID : 6306801772489
Option 31D : 6306801772491
Option 4 ID : 6306801772488
Status : Answered
Chosen Option : 2
Q.34 Q6q)Ig AUQ 66T AAIZIQIER GIR Q6S |
Ans X 1.29
o 2. 0601
X 3.9Re
X 4.l
Question ID : 630680453869
Option 11D : 6306801772428
Option 2 ID : 6306801772431
Option 31D : 6306801772430
Option 4 1D : 6306801772429
Status : Answered
Chosen Option : 2
Q.35 ‘90 AIN’ - 921 6RAYRIR F66ITE AR ?
Ans X 1.20gQI00
X 2. agieee
& 3. AArIERIeR
X 4.geQiee
Question ID : 630680453840
Option 11D : 6306801772315
Option 2 ID : 6306801772312
Option 31D : 6306801772313
Option 41D : 6306801772314
Status : Answered
Chosen Option: 3
Q.36 ‘aRgdar- seda daqle aedg 6gc ea |
Ans X 1.Q652
o 2. QIQsIeRe
X 3. geqal
X 4. efeiRal
Question ID : 630680453877
Option 11D : 6306801772461
Option 2 ID : 6306801772462
Option 31D : 6306801772460
Option 41D : 6306801772463
Status : Not Answered
Chosen Option : --




Q.37 ‘G60R’ gRG6a ‘IR’ 9oL 62Q 22l6q QLR 6RIRR ?
Ans X 1.@Id49dea

X 2. QeI
«” 3. 28 236Q
7 4. 991d6a
Question ID : 630680453858
Option 11D : 6306801772386
Option 2 ID : 6306801772385
Option 31D : 6306801772387
Option 4 ID : 6306801772384
Status : Answered
Chosen Option: 3
Q.38 QI cIIF, ¢RI, QQ1 - AUIQ RIFQIOS F661A45g Gge @a ?
Ans X 1.q1@
o 2.0
X 3.
X 4 el
Question ID : 630680453848
Option 11D : 6306801772345
Option 2 ID : 6306801772346
Option 3 ID : 6306801772344
Option 4 ID : 6306801772347
Status : Answered
Chosen Option : 2
Q.39 ‘QI¢' QIFQr Fa A Ada ea |
Ans & 1.0 Qigl uael
X 2. Q6a8I 95!
& 3. FB6Q 2R4QIQl 2996 629!
X 4.6agel
Question ID : 630680453879
Option 11D : 6306801772469
Option 2 ID : 6306801772468
Option 31D : 6306801772470
Option 41D : 6306801772471
Status : Answered
Chosen Option : 2
Q.40 fre’ defa daqie aatg gia ?
Ans X 1.\9410
< 2. aislialg
X 3.909
o 43680
Question ID : 630680453867
Option 11D : 6306801772420
Option 2 ID : 6306801772422
Option 31D : 6306801772421
Option 41D : 6306801772423
Status : Answered
Chosen Option : 4

Section : Part Il Pedagogy




Q.1

Ans

QUGS FRIQ 6965 TAIN T PRICE 26572
x 1. dgeh, SI8ee 99 99° @24 GRA6T RIF 2T 998
X 2 e, 18iee g8 99° s2ua 218l 958

X 3.

gislieh, ges 99° 2URRE (URL) dogEeR dlSee 916 degltl 898

v+ G8Iel, 9@ 991918 BRRa d6gEe CINRIS 998

Question ID : 630680453520
Option 11D : 6306801771088
Option 2 1D : 6306801771090
Option 31D : 6306801771091
Option 4 1D : 6306801771089
Status : Answered
Chosen Option: 3
Q.2 a2 () 99 95 52 6998 99 UKCERS, 6ILE/6R IFIS QIFR IFIE FIE 28 99° (i) x 66 97 S1KIE ARERIFIEIN 6898 ax3 +
bx? + ox + d ZIRISE & FIRCERIA AEEGIE, 6A606R a, b, ¢ B d GRWE I° "2’ R4 €2 AR 6L, 6869 I
Ans o= . /T 10 2
X1 (i) @€ (ii) 691688 d°sl 96%
X 2. Q9eq (i) 9% <°H|
X 3 6w (i) 99 <\l 265!
4 Qi €8] El6T
Question ID : 630680453514
Option 11D : 6306801771065
Option 2 ID : 6306801771066
Option 3 ID : 6306801771064
Option 4 1D : 6306801771067
Status : Answered
Chosen Option : 4
Q.3 An attempt to procedurally determine the actual value within small error constraints is known as:
Ans 1. Approximation
A 2. Estimation
X 3. Hypothesis
X 4 Guess
Question ID : 630680453526
Option 11D : 6306801771112
Option 2 1D : 6306801771113
Option 31D : 6306801771115
Option 41D : 6306801771114
Status : Answered
Chosen Option: 3




Q.4

Ans

Q64 J99 SIE8IgIFIRg F9nye aidienia faIE:

I8 IR 81 R8 AREIRR 99! din 699M FIRHET 65IAgEY YOR QYLHE 80 AYRIg 699, 60MR 684K 659

GRU6R 4 § 65910 QEle WIER QE9 |

SIS R6S 98l 2RS! Y, VSBIFIFIEE 2SR 659 G FAINKIG 689 | I8l (IR T8 6949 2ISE

SH96% 2RISR SRATES 1T 2

X 1. Qa8 eRIgEan sTl4l

X 2. ClEIR PHIFYERN FRIGT

X 3. dRerg rHigEan gée

4. BlQecIE AeRIgEea FSIg

Question ID : 630680453532
Option 11D : 6306801771138
Option 2 ID : 6306801771136
Option 31D : 6306801771137
Option 4 ID : 6306801771139
Status : Answered
Chosen Option: 3
Q.5  Ateacher provides the following table to the students and asks that if a particular pattern is followed in filling the mumbers in this
table, can x be 1000?
1 2 3 4
5 6 7 *
2 * n o |*
* * * X
A teacher who uses similar types of methods in teaching is called a:
Ans X 1. Class teacher
+ 2. Connectionist
X 3. Transmissionist
X 4. Facilitator
Question ID : 630680453538
Option 11D : 6306801771163
Option 2 ID : 6306801771160
Option 31D : 6306801771161
Option 4 ID : 6306801771162
Status : Answered
Chosen Option : 4
Q.6 6R6 AANGES A6 61468 EVS GMIQIR QIQI Qs §9?
Ans X 1.0896! 010
X 2.90019@Q @16
" 3. 92a%e @16
X 4. 6Qi§ &igel 210
Question ID : 630680453187
Option 11D : 6306801769758
Option 2 ID : 6306801769757
Option 31D : 6306801769756
Option 4 ID : 6306801769759
Status : Answered
Chosen Option: 3




Q.7 Which term in EVS pedagogy represents the process of evaluating a student's learning at

the end of an instructional unit by comparing it against a standard or benchmark?

Ans X 1. Continuous Comprehensive Evaluation
X 2. Formative Assessment
X 3. Peer Review

" 4. Summative Assessment

Question ID : 630680453199
Option 11D : 6306801769805
Option 2 ID : 6306801769804
Option 3 ID : 6306801769807
Option 4 ID : 6306801769806
Status : Answered
Chosen Option : 2
Q.8 When devising an EVS curriculum that emphasizes both activity-based and theme-based
approaches, which of the following would be the most fitting description?
Ans 1. Integrating hands-on activities within broader environmental themes to enhance
holistic understanding
< 2. Separately covering each topic with a lecture, followed by a lab activity
#$ 3. Teaching individual topics in isolation without connecting them to overarching
themes
< 4. Prioritizing only textbook readings without involving any practical activities
Question ID : 630680453205
Option 11D : 6306801769830
Option 2 1D : 6306801769828
Option 3 1D : 6306801769829
Option 41D : 6306801769831
Status : Answered
Chosen Option : 1
Q.9 What is a primary aim of teaching EVS in schools?
Ans X 1.To study only about forests and wildlife.
X 2. To memorize all the scientific names of plants and animals.
X 3. To focus on political boundaries and national flags.
+#" 4. To understand environmental challenges and develop solutions.
Question ID : 630680453181
Option 11D : 6306801769734
Option 2 ID : 6306801769732
Option 31D : 6306801769735
Option 4 ID : 6306801769733
Status : Answered
Chosen Option : 4




Q.10 EVS 6Q 2Q¢lg 62102Q1 QR AA6@é AN 6R6a0I _____ Qd6a Qe 6Qa2Id |
Ans X' 1.600R QR10Q A°”E F8AER &ieal

X 2. 6006 dR6QE AAU6R IR 208 @RQI

o 3. (8@ 9@° 6QCIRFA JIQDR AR6REl FIIER 6p0R AMRA QIR 2RIAR

X 4. 9900 609f 6010 gelenig 98al

Question ID : 630680453193
Option 11D : 6306801769782
Option 21D : 6306801769780
Option 3 ID : 6306801769781
Option 41D : 6306801769783
Status : Answered
Chosen Option : 3
Q.11 Fill in the blanks:
learning will lead to better long-term retention than learning.
Ans X 1.Distance, physical
< 2. Visual, logical
" 3. Meaningful, rote
X 4. Simplified, imaginary
Question ID : 630680453639
Option 11D : 6306801771561
Option 2 ID : 6306801771562
Option 31D : 6306801771563
Option 4 ID : 6306801771560
Status : Answered
Chosen Option: 3
Q.12 What are the three most important elements of a message?
Ans 1. Content, style, structure
< 2. Needs, age, demography
/X 3. Time, place, action
/5 4. Noise, reward, channel
Question ID : 630680453627
Option 11D : 6306801771512
Option 2 1D : 6306801771514
Option 31D : 6306801771513
Option 4 ID : 6306801771515
Status : Answered

Chosen Option :

1




Q.13 Reading long passages of a prose piece may be tiresome for the teacher. It may also lead to

difficulty in learners' understanding the content. Which is the best way to tackle this

challenge?

Ans X 1. Asking parents to teach such texts at home during holidays

#5 2. Singing such long passages aloud accompanied by musical instruments
< 3. Giving a summary of the piece instead of explaining the entire text

+#" 4. Dividing the text into smaller manageable units to hold attention

Question ID : 630680453645
Option 11D : 6306801771584
Option 2 ID : 6306801771585
Option 31D : 6306801771586
Option 4 ID : 6306801771587
Status : Answered
Chosen Option : 4
Q.14 What do we call a one-way communication where the receiver doesn't provide feedback or
ask questions and may or may not understand the sender's message?
Ans X 1. Critical listening
X 2. Active listening
«” 3. Passive listening
< 4. Discriminative listening
Question ID : 630680453621
Option 11D : 6306801771488
Option 2 1D : 6306801771491
Option 3 ID : 6306801771490
Option 4 1D : 6306801771489
Status : Answered
Chosen Option : 3
Q.15 Which of the following is not a good strategy to increase participation of non-native
speakers in the class?
Ans X 1. Ask direct and specific questions for easy.comprehension by students.
/5 2. Be patient and allow students to formulate a response to question asked.
75 3. Pause while teaching and take frequent feedback from students.
" 4. Ask native speakers to respond instead of embarrassing the non-native speakers.
Question ID : 630680453633
Option 11D : 6306801771539
Option 21D : 6306801771538
Option 3 ID : 6306801771536
Option 4 ID : 6306801771537
Status : Answered
Chosen Option : 1




Q.16 6QQ QUSI FIIFAER @g@l@@ QAG! AR FAUAIN2AN?

Ans X 1.Q010 Q4
X 2. drerde aual
" 3. cIgQual
X 49910 Qal
Question ID : 630680453825
Option 11D : 6306801772254
Option 21D : 6306801772255
Option 3 1D : 6306801772253
Option 4 1D : 6306801772252
Status : Answered
Chosen Option: 3
Q.17 QUAIQ CIRE RIRIG 6aR G2UIR 6RIRE ?
Ans X 1.9@64
X 220049
X 3.2gQQ
o 4.40,60,00,004 G 2d
Question ID : 630680453803
Option 11D : 6306801772164
Option 2 ID : 6306801772166
Option 3 1D : 6306801772165
Option 41D : 6306801772167
Status : Answered
Chosen Option : 4
Q.18 6@6QIE QUAI QUQEST AU QI L1QE AIF 621& ?
Ans X 1.e¥
Ko2.e9
& 3.9¢
o 4.99
Question ID : 630680453797
Option 11D : 6306801772140
Option 2 1D : 6306801772141
Option 3 1D : 6306801772142
Option 4 1D : 6306801772143
Status : Answered
Chosen Option : 4
Q.19 QUVIQ CIRE AYMA RIQ 66Q AR AFa AfaeQg?
Ans o 1. 99008
X 2. a@tye
X 3. aRd
X 4. dQefe
Question ID : 630680453814
Option 11D : 6306801772209
Option 2 1D : 6306801772208
Option 3 ID : 6306801772210
Option 41D : 6306801772211
Status : Answered

Chosen Option :

1




Q.20 2gI9Q MR 66 QAG| YREIR KRN ?
Ans X 1.Q2Q 80!

o 2. 6RGQI QIO

/< 3. dQQl om©BI

X 4. gEicl 8ol

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680453809
6306801772188
6306801772189
6306801772190
6306801772191
Answered

2




